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ARKX 1.9 48 2.5
AT -0.9 -0.7 -0.3 -0.8
£330 ] -1.1 -0.7 -1.0
fEET -0.7 -0.2 0.0 -0.5
Fam 0.0 3.2 8.9 1.3
== 4171 -2.6 -2.1 -5.4 -2.8
&REH 0.4 -0.4 0.2
W& 0.2 0.8 10.0 1.1
mBTH 1.3 0.0 10.1 2.4
RER™ 0.1 8.6 9.6 3.4
J\ & -0.3 1.9 10.0 0.8
RmHEIH -0.1 2.3 11.0 1.1
RFt&E™ -0.7 -2.6 -1.1
kel -1.6 -1.9 -1.7
RZENTH -1.4 -0.2 -1.3
Z AR K L U5 BT -0.5 9.1 1.9
AtHER A fENLLIET -0.9 17.6 6.5
mEA HFHE -2.9 -2.1 -2.6
FAHERET -0.4 15.2 35
i34 LEHT -48 -4.8
FORHET -5.0 -5.0
FEEEHT -0.6 0.0 -0.5
A LA -4.4 -4.4
faF 2B R FHRET -2.2 -2.2
5 58 {RARHET 0.0 0.0
5 4 Er T -1.3 -2.7 -1.7




TH2E MfifHE FHEHRR

(BfL: %)

EEH Eith RaA EES: T b EXVN
R B AT -0.8 -1.1 0.4 2.8 -0.4
®m O 0.1 -2.2 1.4 3.7 0.6
P A3 0.0 2.4 0.4
IRE 2.4 3.4 2.9
ERRX 0.1 -3.0 0.8 0.1
FREX 0.9 2.1 1.8
RILX 0.8 0.9 0.8
TRE 2.5 1.8 1.9
313 15 2.4 4.4 2.2
AR -0.8 -0.3 1.7 -0.5
KRR -0.4 -1.3 0.2 5.0 -0.1
IRX -0.8 -1.0 -0.8
FERX 0.0 1.0 0.3
BRI -0.9 0.0 -0.7 -0.3 -0.8
SZiEth -1.0 -0.9 -1.0
&A™ -0.8 -0.2 0.0 -0.6
At -0.3 -0.6 18 -0.2
== 4171 -25 -2.1 -5.7 -2.7
&RE™ -0.4 0.0 -0.7 -0.4
1 N] -0.4 -0.7 3.9 0.0
mAm -0.4 -1.0 2.5 0.0
KRS -0.5 1.8 45 0.9
J\IE™ -0.8 0.0 4.9 -0.2
RHEAMH -0.8 0.3 4.9 -0.2
RF&™ -0.5 -3.1 -1.1
mfh -2.0 -2.0 -2.0
KT -2.5 -6.0 -2.7
Z AR K L I T -0.9 4.1 0.3
AHER AL ET -15 55 1.3
m=EA FHFHT -4.4 -4.3 -4.4
FaHERET -0.4 6.8 1.4
FHEER FEMT -5.3 -5.3
FOZRAET -5.7 -5.7
TAEEMT -0.9 -0.8 -0.9
A LA -5.4 -5.4
Re AR R FHRHET -25 -2.5
E5E R ET 0.0 0.0
5 S Er T -0.9 -1.1 -1.0




THSE MfiE TFHEHRR

(BfL: %)

it Eith RaA EES: T b EXVN

R B AT -0.6 -1.1 -0.6 2.9 -0.5
®m O -0.1 -2.2 -0.4 3.6 -0.1
P A3 -0.6 -0.2 -0.5

IRE 1.8 -0.6 0.9

ERRX -0.5 -3.1 0.0 -0.5

FREX 0.5 0.0 0.1

RILX -0.2 -1.8 -0.9

TRE 1.4 0.3 0.4

313 1.2 -1.1 4.2 0.6

AR -0.5 0.2 1.7 -0.2

KRR -0.6 -1.3 -2.1 5.0 -0.8

IRX -0.5 0.0 -0.4

FARX 0.8 0.6 0.7

BRI -0.8 -0.9 0.0 -0.8
SZiEth -1.2 -1.7 -1.3
&A™ -0.6 0.0 0.0 -0.5
At -0.3 -1.6 18 -0.3
== 4171 -2.1 -1.8 -5.5 -2.4
&RE™ -0.2 0.0 -0.2 -0.2
1 N] -0.3 0.0 38 0.1
mAm 1.6 0.0 4.1 1.8
ERmmh 0.2 4.4 43 1.8
J\IE™ -0.4 -0.9 5.2 0.1
RHEAMH 0.1 0.0 2.0 5.3 1.7
RF&™ -0.9 -3.4 -1.4
mfh -1.6 -1.9 -1.6
KT -2.2 -1.8 -2.2
ZENER K L I T -0.2 4.3 0.9
AHER AL ET -1.1 4.7 1.2
m=EA HFHT -2.9 -2.2 -2.6
FaHERET -0.2 6.0 1.4

FHEER FEMT -2.8 -2.8
FOZRAET -2.6 -2.6

TAEEMT -0.8 0.0 -0.7

A LA -4.0 -4.0

Re AR R FHRHET -2.0 -2.0
E5E R ET -0.2 -0.2
5 S Er T -0.8 -1.1 -0.9




THAE MlHE FHEHERR

(B : %)
£ Efh R A GSES: T =XV
R A -0.2 -0.3 1.4 45 0.4
m O 0.6 -0.8 2.5 5.3 1.4
X 0.4 3.8 1.0
ERE 2.3 2.0 2.2
ERRX 0.5 -1.6 2.4 0.7
FRX 16 1.8 18
HILX 1.1 2.2 15
TERE 1.8 5.3 4.7
313 2.1 25 6.0 2.7
AR -0.2 26 1.6 0.5
KRR 0.1 0.0 0.8 8.2 0.6
IR 0.1 0.3 0.1
FERX 1.2 2.4 15
BRI -0.5 -1.1 0.0 -0.6
35 -0.9 -1.0 -0.9
&A™ -0.5 0.0 0.0 -0.3
Fam 0.3 0.1 4.1 0.6
=iE™ -1.8 -1.2 -5.2 -2.0
&RE™ 0.0 0.0 0.0 0.0
1 N] 0.3 0.8 5.3 0.8
mAm 15 0.0 EEE 1.3
RRERT 0.9 7.2 5.0 3.0
J\ & -0.3 0.0 7.9 0.5
READBH 0.7 0.0 2.7 6.0 1.3
Rit&ET -0.6 -34 -1.2
mfth -14 -1.2 -14
KiE)H -2.1 -2.0 -2.1
Z AR K L U5 T 0.2 2.6 0.8
A ER A fELLET -0.1 9.7 38
= A8 FFHT -3.0 -2.3 -2.8
Fa HIRET -0.2 1.7 2.8
RS FiEHRT -2.1 -2.1
FOERET -2.3 -2.3
FEEEMT 0.0 0.0 0.0
A LAt -2.3 -2.3
AR AR RFHRHET -1.8 -1.8
5HE R ET -0.6 -0.6
B S EFET -0.3 EEE -0.3




THSE MfiHE TFHEHRR

(BfL: %)

Eith RaA EXVN
R B AT 0.5 3.0 6.7 1.3
®m O 1.7 4.9 7.8 3.0
P A3 1.2 3.6 16
IRE 3.7 43 40
ERRX 13 4.2 16
FREX 4.0 5.4 5.1
RILX 3.5 6.9 4.9
TRE 6.2 5.7 5.8
313 3.8 5.6 8.2 4.9
AR 0.5 4.9 48 1.8
KRR 0.8 4.0 10.5 2.3
IRX 1.0 3.1 15
FARX 2.0 3.7 2.4
BRI -04 -1.2 1.2 -0.4
SZiEth -0.7 -0.9 -0.8
&A™ -0.4 0.0 2.4 -0.1
At 1.3 1.8 5.9 1.8
=iE™ -1.9 -1.2 -1.7
&RE™ 0.4 0.3 0.4
1 N] 1.6 3.0 6.4 2.2
mAm 2.7 0.0 3.1 2.4
ERmmh 1.4 7.2 8.5 3.8
J\IE™ 0.7 -0.9 7.3 1.1
RHEAMH 1.0 3.3 6.6 1.7
RF&™ -0.4 -3.3 -1.0
mfh -1.2 -1.2 -1.2
KT -1.1 -1.5 -1.2
Z AR K L I T 0.2 4.6 1.3
AHER AL ET 0.0 9.3 3.7
m=EA HFHT -2.0 -1.2 -1.7
FaHERET -0.2 17.9 43
FHEER FEHRT -1.7 -1.7
FOZRAET -2.8 -2.8
TAEEMT 0.2 0.0 0.2
A LA -1.9 -1.9
Re AR R FHRHET -1.4 -1.4
E5E R ET 1.4 1.4
5 4 EFET -0.3 0.0 -0.3




